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Overview

Halacha Highlight

Siman 362 Seif 8:

If there is more breached space than physical wall it is
prohibited unless each breach is less than three
fefachim.

< When a wall has more open space than closed space
it is treated as non-existent and even the part that is
closed is considered open. Some maintain that even
if two closed parts, together are greater than the
open part, they combine to nullify the open part. If a
partition is 15 amos long but comprised of an amah
of partition, an empty space of an amah, two amos
of wall, an open space of seven fefachim, two amos
of wall, a space of an amah and then one final amah
of wall, the entire area is considered closed. (M.B.

45)

% Lavud indicates that the area is considered closed.
(M.B. 46)

Siman 362 Seif 9:

If the breached area and closed space are equal it is
permitted regardless of whether the space is horizontal
or vertical provided that there is no breach greater
than ten amos but if it is less than ten amos it is per-
mitted since it is considered an entrance.

R/

< Even if they are equal in size it is permitted since the
open space is not greater than the closed space.
(M.B. 48)

< A partition may not have three fefachim of space be-
neath it since that allows goats to pass beneath it.
Similarly, if a partition was six fefachim high and of-
ter a gap of three fefachim one added additional
material so that the total height would be ten
fefachim, it is ineffective despite the fact that there is
more closed space than open space since the open
space on both sides of the upper piece nullify its
presence. However, If one made an upper piece that
is four fefachim and a lower piece that is three
fefachim and the space between is three tefachim,
the upper piece that is four fefachim is not nullified
since the piece is greater than the empty space that is
beneath it. (M.B. 50)

< This renders the partition as non-existent even if the
closed space is greater than the open space. (M.B.
51)

< Ten amos is also permitted. (M.B. 52)

Omed mervbah al haparutz

Shulchan Aruch Siman 362 Seif 8
97 9 N2 19

If the open space is greater than the closed space

Shulchan Aruch states that when the open space is
greater than the closed space, mmyn Sy N1 M9, the
area is not considered enclosed. Poskim debate the
method of determining whether an area has more open
space than closed space. According to Aruch HaShul-
chan (v 'wo »ow »oY V7)Y ¥5 'yo) the calculation is
made taking the entire circumference into account. In
other words, we look at the entire enclosed area and
calculate whether, overall, the area has more open
space than closed space or whether it has more closed
space than open space. The one additional qualifica-
tion is that each side of the enclosure must have some
part of a wall because if a side does not have any wall
whatsoever the area is not considered enclosed. Cha-
zon Ish (n- pro nry HOY wpo 'y PO NIN) disagrees and
asserts that each side is calculated independently and
the wall of one side has no bearing on the wall of an-
other side. Mishnah Berurah (n"n pro) seems to agree
with Chazon Ish’s stringent approach since he writes
that when two walls are whole and complete and the
third wall has more open space than closed space, we
look at the closed space on the third wall as non-
existent. This clearly indicates that we do not take the
walls of the other two sides and add that to the third
wall to determine whether there is more closed space
than open space.

Chazon Ish describes a circumstance where this disa-
greement would generate a practical difference. An ar-
ea is 20 amos by 10 amos and the sides that are 20
amos are completely closed but the sides that are 10
amos have walls that extend only 4 amos. According to
Aruch HaShulchan, of the 60 amos that are the total
circumference, 44 amos have an actual wall so that the
entire area is X191 Yy N2 TMW. However, according to
Chazon Ish we determine the status of each wall sepa-
rately and thus on two of the walls there is more empty
space than closed space and thus the area would not
be considered properly closed and one would not be
permitted to transport objects more than four amos.



